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Who’s who ?
The party is played between two teams (A and B) in four sets.
The team A arranges the characters on the grid, right side out.
The team B  chooses a character whom the team A has to guess.
The team A must  find  this character with 4 proposals.
If  the team A finds  the right character, it wins one point.
If it doesn’t find the solution at the end of the four proposals, it has the possibility to make a choice among  the remaining characters.
If it’s the right choice, then the team wins the point.
Write the  points  at the same time on the grid “Point’s grid ”
Now it’s team B turn. 
In case of equality  the champion will be the one which finds the character with the least proposals.

Vocabulary   used:
She is a girl….He is a boy
She has got ….He has got….Straight hair, curly hair, brown hair, blond hair, long hair, short hair.
He has got a beard.  He has got freckles or she has got freckles. 
He is bald. 
She wears earrings. She wears ( he  wears ) glasses.


Point’s grid
	Team A
	 Proposal
1
	Proposal
2
	Proposal
 3
	Proposal
 4
	point

	Set 1

	
	
	
	
	

	Set2

	
	
	
	
	

	Set3

	
	
	
	
	

	Set4

	
	
	
	
	

	

	
Total
	



	Team B
	 Proposal
 1
	Proposal
 2
	Proposal
3
	Proposal
 4
	point

	Set 1

	
	
	
	
	

	Set2

	
	
	
	
	

	Set3

	
	
	
	
	

	Set4

	
	
	
	
	

	
	
Total
	



If equality
	Team A
	Proposal
1
	Proposal
 2
	Proposal
3
	Proposal
 4
	Point 

	Set 1

	
	
	
	
	



	Team B
	Proposal
 1
	Proposal
2
	Proposal
3
	Proposal
4
	point

	Set 1

	
	
	
	
	



image1.emf

image2.emf

image3.emf

